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2L A 39.7 IR 32.9 756 432 432 15
IZACA 18.9 E & 13.4 1,728 — 1512 10 vay L
ZIES5 3.0 IR 28 — 3,564 — 0] A 2M
[E<ELY 28.3 R 16.9 - 918 - 15[ A 6
HTE 1.6 IR 0.3 1,944 1,728 1,080 4 A M
ZED: 6.2 IR 35 1,404 — 1,080 4 A M
FrRY 102.2 ERE 36.5 432 324 324 0] A 8
IE5NAZES 3.1 IR 1.3 3,240 3,024 2,808 4f A M
hE 15.1 IR 5.8 1,296 1,188 1,080 3l A L
_hE 1.8 ik B 1.2 2,268 1,296 1,296 3 L
_hE 2 [ 0.4 2,592 864 756 3l A S
125 24 ElG 1.1 2,700 1,620 1,620 5] vay
R 2.8 2 [ 2.0 3,240 2,592 2,592 0] A L
T RINTGHR 0.9
LARR 255 E & 11.3 972 648 216 10 12
FoTYA 1.5 BRE 0.9 1,728 1,512 1,080 4f A L
5l 20.6 BRE 13.2 1,782 1,404 1,080 5/ A L
=p5Y ElG 5.0 1,944 1,836 1,782 5] A M
ANESSES) 9.6 BRE 1.9 — 1,404 — 10 5
Y 3.7 EES 3.0 2,484 2,484 2,376 5/ A L
Y = I 0.4 2,376 — 2,160 5/ A L
k2 23.2 EES 10.2 194 151 97 0.5 4
d BRE 6.5 162 — 140 05 ¢ M
I=kTh 12.2 BRE 10.9 108 76 70 02 A M
E—<y 6.9 BERE 4.1 3,240 — 2,160 0] A LM
ES5HACL 3.7 = I 1.3 — 3,024 — 7 LL
x93 1.2 BRE 1.2 140 124 124 008 A M
IZH5Y) 4.2 BERE 4.0 1,944 1,080 1,080 3l A L
SPVAITFA 1.6 BRE 1.6 - 1,728 — 2l A
MrAL& 43 E X 43 2,484 2,268 2,268 5 M
IEhLs 40.1 E 5 36.9 1,944 — 1,836 0] A L
IEhi s E 15 1,944 1,836 1,620 0] A LL
IEhiLs E 5 - 1,512 — 0] A 3L
IEhiLs E 5 1,728 — 1,296 0] A LL
[ES AT BRE 3.2 — 540 — 10
[ES AT BRE 1,080 - 756 0] A L
[ECTRYNS BRE - 648 — 0] A M
=L 0.8 BRE 0.8 9,720 8,640 3,780 10
f=Fh&E 62.7 = B 61.6 3,456 3,240 3,132 20 va9 L
5oELD 1.2 BRE 1.2 5,400 4860 4,320 0] A M
ELLVE=T 2.1 BERE 0.1 — 108 — 0.1 L
ELLV=IT E 15 0.6 - 173 - 0.25| M M
ZADEET 4.4 E I 2.9 32 32 30 0.1 A
LoHL 2.8 2 [ 2.8 97 76 65 0.2
ESES T 4745
B=
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() ATT=®) (M) (M) (M) (kg)

BMAMAET 1.3
INDRAFHNA 1.3
HEDHMNA 2.0 BERE 2.0 2,160 — 1,944 10 B M
LEY 3.0 TA)H 3.0 7,344 1512 1512 17 115
INLULT 35 TA)H 35 7,236 3,758 3,629 17
L7y 0.4 mr2Y 0.4 — 5,616 — 15 50
YATE 17.7
oaF3)Lk 2.6 5 & 2.6 — 4428 — 10] vay 36
AL 14.3 5 & 14.3 7,236 6,696 4,536 10 36
Uh 0.1 E & 0.1 - 2,765 - 8 Ny
3HEH 0.9
3% 0.9 2 [ 0.4 — 432 - 04| 742 4L
FTHHE 0.3
EEX3 0.3 2 [ 0.1 626 594 540 0.4 A L
fipYp) 0.2 iz 0.2 — — — PR LL
fipYp) W iz - 648 — 0.18] vay L
fipYp) W iz 594 — 540 0.18] vay M
58 5.0 = I 1.1 4,320 3,780 3,240 5/ A LL
SESE 1.0
To9x7F 0.7 B2 [ 0.6 - — — PR LL
F5917F 2 [ 454 432 400 0.25] 7hva L
To9z7F 2 - - - PR M
Big 0.2 2 0.2 972 972 864 03] A 5L
[ f2 [ - 972 — 03] B 4L
W5 1.0 BRE 1.0 — 486 — 04 A 3L
W52 BRE - 432 — 04] A 44
W5 EES - 302 — 0.25] vay 3L
W5 EES - 302 — 0.25] vay LL
AOVEF 7.9
7—ILR 0.7 BRE 0.6 — 2,160 — 4 7EA 3L
AH3 0.6 BE X 0.5 - 2,268 — 5] va9 4L
ZFDHAOY 6.6 B K 4.9 - 2,376 - 8l Va9 3L
3 LVAVEE 120
ERAYN 8.3 N 5.1 4,320 4,320 3,888 15 A 3L
ZfEETLVH 3.7 BERE 3.0 2,916 2376 2,376 10 A M
NFF 18.1 EUEY 178 4,536 2,991 2,808 15
NAFvTIL 3.0 EUEY 3.0 3,240 2,916 2,484 10 8
FoA47)LY 24 - 24 2,808 2,484 2,484 4 30
REET 80.9




